Democratic Services

Guildhall, High Street, Bath BA1 5AW

Telephone: (01225) 477000 main switchboard

Direct Lines - Tel: 01225 394358 Web-site - http://www.bathnes.gov.uk 11 February 2019
Democratic_Services@bathne
s.gov.uk

To: All Members of the Council

Co-opted Voting Members:

Co-opted Non-voting Members:

Chief Executive and other appropriate officers Press and Public

Dear Member

Council: Tuesday, 19th February, 2019

Please find attached a **SUPPLEMENTARY AGENDA DESPATCH** of late papers which were not available at the time the agenda was published. Please treat these papers as part of the agenda.

Papers have been included for the following items:

ANNEX 12 TO ITEM 8: BUDGET & COUNCIL TAX 2019/20 AND FINANCIAL OUTLOOK (Pages 3 - 14)

Yours sincerely

Jo Morrison for Chief Executive

If you need to access this agenda or any of the supporting reports in an alternative accessible format please contact Democratic Services or the relevant report author whose details are listed at the end of each report.

This Agenda and all accompanying reports are printed on recycled paper



Annex 12

Resolution for Setting Council Tax for 2019/20

That Council approves:

- 1 The revenue budget as set out in Annex 1 to the report.
- 2. The 2019/20 capital budget as set out in Annex 5 to the report.
- 3. That the 2019/20 revenue expenditure is funded as follows:

	Total £
2019/20 Gross Expenditure	344,236,634
2019/20 Income (service income and specific grants)	190,235,019
Core Funding:	
Retained Business Rates*	61,526,536
Collection Fund Surplus	438,979
2019/20 Gross Income	252,200,534
Council Tax Requirement (excluding Parish Precepts)	92,036,100

^{*} Before Tariff Payment of £38.980m

- 4. a) That it be noted that on the 12th December 2018 the Director of Finance (as authorised section 151 officer) agreed **65,687.52** Band D property equivalent as the Council Tax Base for the year 2019/20 in accordance with regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 1992 made under Section 35(5) of the Local Government Finance Act 1992.
- b) The amounts calculated by the Council, in accordance with Regulation 6 of the Regulations, as the amount of its Council Tax Base for the year for dwellings in those parts of its area to which one or more special items relate is given as Annex 1 (1). [Annex 1 (1) gives Band D Tax base by parish]
- 5. That the following amounts be now calculated by the Council for the 2019/20 financial year in accordance with Sections 31 to 36 of the Local Government and Finance Act 1992, as amended:
- a) £346,963,908 (=£344,236,634 (gross expenditure including contribution to reserves) +£2,727,274 (Parish precepts)) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the 1992 Act. [This is the gross expenditure incurred in performing functions and charged to the revenue account, contingencies for revenue, any financial reserves to be raised, financial reserves to meet prior year deficit not yet provided for, any amounts transferred from its general fund to its collection fund in accordance with section 97(4) of the Local Government Finance 1988 Act, and any amounts transferred from general fund to collection fund under section 98(5) of 1988 Act.]
- b) £252,200,534 (gross income) being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the 1992 Act. [This is the income estimated to accrue which will be credited into the revenue account for the year in accordance with proper practices, any amounts transferred in the year from the collection fund to the general fund in accordance with section 97(3) of the 1988 Act, any amounts which will be transferred from the collection fund to the general fund pursuant to a direction under section 98(4) of the 1988 Act and will be credited to the revenue account for the year, and financial reserves used to provide for items in Section 31A(2)]

- c) £94,763,374 being the amount by which the aggregate at 5(a) above exceeds the aggregate at 5(b) above calculated by the Council in accordance with Section 31A(4) of the 1992 Act as its **Council Tax requirement** for the year.
- d) £ 1,442.64 being the amount at 5(c) above divided by the amount at 4(a) above, calculated in accordance with Section 31B of the 1992 Act, as the basic amount of Council Tax for the year.

[This is the average Council tax including B&NES and parish precepts]

- e) £ 2,727,274 being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the 1992 Act. [This is the total of parish precepts]
- f) £1,401.12 being the amount at 5(d) above less the result given by dividing the amount at 5(e) above by the amount at 4(a) above, calculated by the Council, in accordance with Section 34(2) of the 1992 Act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no special item relates. [This is the B&NES Council tax only excluding parish precepts]
- g) The amounts given by adding to the amount at 5(f) above the amounts of special items or items relating to dwellings in those parts of the Council's area mentioned above divided in each case by the amount at 4(b) above, calculated by the Council, in accordance with section 34(3) of the 1992 Act, as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which one or more special items relate are given at Annex 1 (3).

[Annex 1 (3) gives the Band D Council tax for each area **including** the parish precepts]

h) The amounts given by multiplying the amounts at 5(g) above by the number which, in the proportion set out in Section 5(1) of the Act, is applicable to dwellings listed in a particular valuation band divided by the number which in that proportion is applicable to dwellings listed in valuation band D, calculated by the Council, in accordance with Section 36(1) of the 1992 Act, as the amounts to be taken into account for the year in respect of categories of dwellings listed in different valuation bands are given in Annex 1 (4). [Annex 1 (4) shows the B&NES and parish Council Tax for all bands.]

Precepting Authorities

6. That it be noted that for the year 2019/20 the Police & Crime Commissioner for Avon and Somerset has determined the amount in precepts issued to the Council in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of the dwellings shown below:-

7. Avon and Somerset Police

Valuation Bands

Α	В	С	D	E	F	G	Н
£145.21	£169.41	£193.61	£217.81	£266.21	£314.61	£363.02	£435.62

8. That it be noted that for the year 2019/20 Avon Fire Authority met on 13th February 2019 to determine the amounts in precepts issued to the Council in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of the dwellings shown below:-

9. Avon Fire Authority

Valuation Bands

Α	В	С	D	E	F	G	Н
£48.99	£57.15	£65.32	£73.48	£89.81	£106.14	£122.47	£146.96

10. That, having calculated the aggregate in each case of the amounts 7, 9 and 5(h) above, the Council, in accordance with Sections 30 and 36 of the Local Government Finance Act 1992 hereby sets the following amounts as the amounts of Council Tax for the 2019/20 financial year for each of the categories of dwellings shown, as listed in Annex 1 (5).

11. On average (for a Band D, 2 adult household) the Council Tax for 2019/20 will be as follows:

Reference		£ Band D	% Increase on
Band D		2019/20	2017/18
2018/19 £			
1,260.52	Bath and North East Somerset Council*	1,300.28	2.95*
87.37	- Adult Social Care (ASC)*	100.84	1.00*
1,347.89	Sub Total B&NES (Including ASC)	1,401.12	3.95
39.01	Average Parish Precept	41.52	6.43
71.35	Avon Fire Authority	73.48	2.99
193.81	Avon and Somerset Police	217.81	12.38
1,652.06	Total Tax Charged	1,733.93	4.96

[Overall annual increase in average Band D Council Tax is £81.87]

12. The Council's basic amount of Council Tax for 2019/20 is not determined to be excessive in accordance with principles approved under section 52ZB Local Government Finance Act 1992.

^{*} The percentage figures represent the number of percentage points which increases for the Adult Social Care precept and the B&NES general expenditure charge each contribute to the overall increase set by the Council in 2019/20.

Band D Tax Base Bath and North East Somerset CouncilAnnex 1 (1)own/Parish/City of:-Tax Base

Town/Parish/City of:-	Tax Base
Bath	31,560.47
Bathampton	740.21
Batheaston	1,108.75
Bathford	815.37
Camerton	254.51
Charlcombe	211.21
Chelwood	62.24
Chew Magna	631.05
Chew Stoke	463.78
Claverton	70.55
Clutton	572.18
Combe Hay	92.37
Compton Dando	291.13
Compton Martin	240.75
Corston	199.55
Dunkerton & Tunley	232.25
East Harptree	307.52
Englishcombe	135.39
Farmborough	484.85
Farrington Gurney	324.88
Freshford	295.98
High Littleton	816.29
Hinton Blewett	137.13
Hinton Charterhouse	236.32
Kelston	86.16
Keynsham	6,369.57
Marksbury	184.89
Midsomer Norton	3,890.60
Monkton Combe	171.16
Nempnett Thrubwell	97.33
Newton St. Loe	68.49
North Stoke	48.38
Norton Malreward	110.45
Paulton	1,985.14
Peasedown St. John	2,135.93
Priston	123.26
Publow & Pensford	486.86
Radstock	1,702.45
St. Catherine	41.04
Saltford	1,788.29
Shoscombe	171.08
South Stoke	236.59
Stanton Drew	328.77
Stowey Sutton	671.08
Swainswick	128.07

Town/Parish/City of:-	Tax Base
Temple Cloud with Cameley	520.21
Timsbury	925.37
Ubley	176.84
Wellow	244.97
West Harptree	203.35
Westfield	1,938.68
Whitchurch	567.78
TOTAL	65,687.52

Annex 1 (2)

Charter Trust / Parish Council Tax Rates 2019/20

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council			
Bath	£157,802	31,560.47	£5.00
Bathampton	£23,000	740.21	£31.07
Batheaston	£45,000	1,108.75	£40.59
Bathford	£17,553	815.37	£21.53
Camerton	£16,736	254.51	£65.76
Charlcombe	£4,700	211.21	£22.25
Chelwood	£500	62.24	£8.03
Chew Magna	£29,500	631.05	£46.75
Chew Stoke	£16,000	463.78	£34.50
Claverton	£2,970	70.55	£42.10
Clutton	£47,935	572.18	£83.78
Combe Hay	£9,040	92.37	£97.87
Compton Dando	£12,233	291.13	£42.02
Compton Martin	£18,000	240.75	£74.77
Corston	£8,704	199.55	£43.62
Dunkerton & Tunley	£8,261	232.25	£35.57
East Harptree	£12,150	307.52	£39.51
Englishcombe	£6,566	135.39	£48.50
Farmborough	£19,500	484.85	£40.22
Farrington Gurney	£12,700	324.88	£39.09
Freshford	£28,860	295.98	£97.51
High Littleton	£31,000	816.29	£37.98
Hinton Blewett	£8,900	137.13	£64.90
Hinton Charterhouse	£13,866	236.32	£58.67
Kelston	£1,600	86.16	£18.57
Keynsham	£581,478	6,369.57	£91.29
Marksbury	£6,700	184.89	£36.24
Midsomer Norton	£367,467	3,890.60	£94.45
Monkton Combe	£7,968	171.16	£46.55
Nempnett Thrubwell	£3,800	97.33	£39.04
Newton St. Loe	£6,500	68.49	£94.90
North Stoke	£0	48.38	£0.00

Parish/Charter Trust/Town	Precept £	Tax base	Band D £
Council	-		
Norton Malreward	£4,000	110.45	£36.22
Paulton	£219,808	1,985.14	£110.73
Peasedown St. John	£247,736	2,135.93	£115.99
Priston	£6,400	123.26	£51.92
Publow & Pensford	£14,200	486.86	£29.17
Radstock	£262,697	1,702.45	£154.31
St. Catherine	£750	41.04	£18.27
Saltford	£33,840	1,788.29	£18.92
Shoscombe	£10,316	171.08	£60.30
South Stoke	£11,358	236.59	£48.01
Stanton Drew	£17,500	328.77	£53.23
Stowey Sutton	£21,000	671.08	£31.29
Swainswick	£3,000	128.07	£23.42
Temple Cloud with Cameley	£24,000	520.21	£46.14
Timsbury	£56,000	925.37	£60.52
Ubley	£13,200	176.84	£74.64
Wellow	£14,579	244.97	£59.52
West Harptree	£8,250	203.35	£40.57
Westfield	£198,650	1,938.68	£102.47
Whitchurch	£33,000	567.78	£58.12
Total	£2,727,274	65,687.52	£41.52

B&NES Council Tax Band D Rates 2019/20 - including parishes but without Police and Fire Precept

	Council		Total Band [
Parish/Charter Trust/Town Council	Council element of	Parish	Council Tax £		
	Band D Council	Precept Band	Council lax £		
	Tax £	£			
Bath	£1,401.12		£1,406.12		
Bathampton	£1,401.12		£1,432.19		
Batheaston	£1,401.12		£1,441.71		
Bathford	£1,401.12		£1,422.65		
Camerton	£1,401.12		£1,466.88		
Charlcombe	£1,401.12		£1,423.37		
Chelwood	£1,401.12		£1,409.15		
Chew Magna	£1,401.12		£1,447.87		
Chew Stoke	£1,401.12		£1,435.62		
Claverton	£1,401.12		£1,443.22		
Clutton	£1,401.12		£1,484.90		
Combe Hay	£1,401.12		£1,498.99		
Compton Dando	£1,401.12		£1,498.99 £1,443.14		
Compton Martin	£1,401.12		£1,445.14 £1,475.89		
•	£1,401.12 £1,401.12		•		
Corston			£1,444.74		
Dunkerton & Tunley	£1,401.12		£1,436.69		
East Harptree	£1,401.12		£1,440.63		
Englishcombe	£1,401.12		£1,449.62		
Farmborough	£1,401.12		£1,441.34		
Farrington Gurney	£1,401.12		£1,440.21		
Freshford	£1,401.12		£1,498.63		
High Littleton	£1,401.12		£1,439.10		
Hinton Blewett	£1,401.12		£1,466.02		
Hinton Charterhouse	£1,401.12		£1,459.79		
Kelston	£1,401.12		£1,419.69		
Keynsham	£1,401.12		£1,492.41		
Marksbury	£1,401.12		£1,437.36		
Midsomer Norton	£1,401.12	1	£1,495.57		
Monkton Combe	£1,401.12		£1,447.67		
Nempnett Thrubwell	£1,401.12		£1,440.16		
Newton St. Loe	£1,401.12	£94.90	£1,496.02		
North Stoke	£1,401.12	£0.00	£1,401.12		
Norton Malreward	£1,401.12	£36.22	£1,437.34		
Paulton	£1,401.12	£110.73	£1,511.85		
Peasedown St. John	£1,401.12	£115.99	£1,517.11		
Priston	£1,401.12	£51.92	£1,453.04		
Publow & Pensford	£1,401.12	£29.17	£1,430.29		
Radstock	£1,401.12	£154.31	£1,555.43		
St. Catherine	£1,401.12		£1,419.39		
Saltford	£1,401.12		£1,420.04		
Shoscombe	£1,401.12		£1,461.42		
South Stoke	£1,401.12		£1,449.13		

Parish/Charter Trust/Town Council	Council element of	Parish Precept Band	Total Band D Council Tax £
	Band D Council		
	Tax £	£	
Stanton Drew	£1,401.12	£53.23	£1,454.35
Stowey Sutton	£1,401.12	£31.29	£1,432.41
Swainswick	£1,401.12	£23.42	£1,424.54
Temple Cloud with Cameley	£1,401.12	£46.14	£1,447.26
Timsbury	£1,401.12	£60.52	£1,461.64
Ubley	£1,401.12	£74.64	£1,475.76
Wellow	£1,401.12	£59.52	£1,460.64
West Harptree	£1,401.12	£40.57	£1,441.69
Westfield	£1,401.12	£102.47	£1,503.59
Whitchurch	£1,401.12	£58.12	£1,459.24

B&NES Council Tax Rates 2019/20 - including parishes but without Police and Fire Precept

Danes Council lax i	WINES Council Tax Rates 2019/20 - Including parishes but without Police and Fire Precept							
£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£937.41	£1,093.64	£1,249.87	£1,406.12	£1,718.60	£2,031.07	£2,343.53	£2,812.24
Bathampton	£954.79	£1,113.92	£1,273.05	£1,432.19	£1,750.46	£2,068.73	£2,386.98	£2,864.38
Batheaston	£961.14	£1,121.32	£1,281.51	£1,441.71	£1,762.10	£2,082.48	£2,402.85	£2,883.42
Bathford	£948.43	£1,106.50	£1,264.57	£1,422.65	£1,738.80	£2,054.95	£2,371.08	£2,845.30
Camerton	£977.92	£1,140.90	£1,303.88	£1,466.88	£1,792.86	£2,118.84	£2,444.80	£2,933.76
Charlcombe	£948.91	£1,107.06	£1,265.21	£1,423.37	£1,739.68	£2,055.99	£2,372.28	£2,846.74
Chelwood	£939.43	£1,096.00	£1,252.57	£1,409.15	£1,722.30	£2,035.45	£2,348.58	£2,818.30
Chew Magna	£965.25	£1,126.11	£1,286.99	£1,447.87	£1,769.63	£2,091.38	£2,413.12	£2,895.74
Chew Stoke	£957.08	£1,116.58	£1,276.10	£1,435.62	£1,754.66	£2,073.68	£2,392.70	£2,871.24
Claverton	£962.15	£1,122.49	£1,282.85	£1,443.22	£1,763.95	£2,084.66	£2,405.37	£2,886.44
Clutton	£989.93	£1,154.91	£1,319.90	£1,484.90	£1,814.89	£2,144.87	£2,474.83	£2,969.80
Combe Hay	£999.33	£1,165.87	£1,332.43	£1,498.99	£1,832.11	£2,165.22	£2,498.32	£2,997.98
Compton Dando	£962.09	£1,122.43	£1,282.78	£1,443.14	£1,763.85	£2,084.55	£2,405.23	£2,886.28
compton Martin	£983.93	£1,147.90	£1,311.89	£1,475.89	£1,803.88	£2,131.85	£2,459.82	£2,951.78
C orston	£963.16	£1,123.68	£1,284.20	£1,444.74	£1,765.80	£2,086.86	£2,407.90	£2,889.48
Dunkerton & Tunley	£957.79	£1,117.42	£1,277.05	£1,436.69	£1,755.96	£2,075.23	£2,394.48	£2,873.38
East Harptree	£960.42	£1,120.48	£1,280.55	£1,440.63	£1,760.78	£2,080.92	£2,401.05	£2,881.26
Englishcombe	£966.41	£1,127.47	£1,288.54	£1,449.62	£1,771.77	£2,093.91	£2,416.03	£2,899.24
Farmborough	£960.89	£1,121.03	£1,281.18	£1,441.34	£1,761.65	£2,081.95	£2,402.23	£2,882.68
Farrington Gurney	£960.14	£1,120.15	£1,280.18	£1,440.21	£1,760.27	£2,080.31	£2,400.35	£2,880.42
Freshford	£999.09	£1,165.59	£1,332.11	£1,498.63	£1,831.67	£2,164.70	£2,497.72	£2,997.26
High Littleton	£959.40	£1,119.29	£1,279.19	£1,439.10	£1,758.91	£2,078.71	£2,398.50	£2,878.20
Hinton Blewett	£977.35	£1,140.23	£1,303.12	£1,466.02	£1,791.81	£2,117.59	£2,443.37	£2,932.04
Hinton Charterhouse	£973.19	£1,135.38	£1,297.58	£1,459.79	£1,784.20	£2,108.60	£2,432.98	£2,919.58
Kelston	£946.46	£1,104.19	£1,261.94	£1,419.69	£1,735.19	£2,050.67	£2,366.15	£2,839.38
Keynsham	£994.94	£1,160.75	£1,326.58	£1,492.41	£1,824.07	£2,155.71	£2,487.35	£2,984.82
Marksbury	£958.24	£1,117.94	£1,277.64	£1,437.36	£1,756.78	£2,076.20	£2,395.60	£2,874.72

B&NES Council Tax Rates 2019/20 - including parishes but Without Police and Fire Precept (continued)

£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Midsomer Norton	£997.05	£1,163.21	£1,329.39	£1,495.57	£1,827.93	£2,160.28	£2,492.62	£2,991.14
Monkton Combe	£965.11	£1,125.96	£1,286.81	£1,447.67	£1,769.38	£2,091.09	£2,412.78	£2,895.34
Nempnett Thrubwell	£960.11	£1,120.11	£1,280.13	£1,440.16	£1,760.21	£2,080.24	£2,400.27	£2,880.32
Newton St. Loe	£997.35	£1,163.56	£1,329.79	£1,496.02	£1,828.48	£2,160.93	£2,493.37	£2,992.04
North Stoke	£934.08	£1,089.75	£1,245.43	£1,401.12	£1,712.49	£2,023.85	£2,335.20	£2,802.24
Norton Malreward	£958.23	£1,117.92	£1,277.63	£1,437.34	£1,756.76	£2,076.17	£2,395.57	£2,874.68
Paulton	£1,007.90	£1,175.87	£1,343.86	£1,511.85	£1,847.83	£2,183.79	£2,519.75	£3,023.70
Peasedown St. John	£1,011.41	£1,179.96	£1,348.53	£1,517.11	£1,854.26	£2,191.39	£2,528.52	£3,034.22
Priston	£968.69	£1,130.13	£1,291.58	£1,453.04	£1,775.95	£2,098.85	£2,421.73	£2,906.08
Publow & Pensford	£953.53	£1,112.44	£1,271.36	£1,430.29	£1,748.14	£2,065.98	£2,383.82	£2,860.58
Radstock	£1,036.95	£1,209.77	£1,382.59	£1,555.43	£1,901.09	£2,246.74	£2,592.38	£3,110.86
St. Catherine	£946.26	£1,103.96	£1,261.67	£1,419.39	£1,734.82	£2,050.24	£2,365.65	£2,838.78
Saltford	£946.69	£1,104.47	£1,262.25	£1,420.04	£1,735.61	£2,051.18	£2,366.73	£2,840.08
\$\frac{1}{2}\text{noscombe}	£974.28	£1,136.65	£1,299.03	£1,461.42	£1,786.19	£2,110.95	£2,435.70	£2,922.84
South Stoke	£966.09	£1,127.09	£1,288.11	£1,449.13	£1,771.17	£2,093.20	£2,415.22	£2,898.26
Stanton Drew	£969.57	£1,131.15	£1,292.75	£1,454.35	£1,777.55	£2,100.74	£2,423.92	£2,908.70
Stowey Sutton	£954.94	£1,114.09	£1,273.24	£1,432.41	£1,750.73	£2,069.05	£2,387.35	£2,864.82
Swainswick	£949.69	£1,107.97	£1,266.25	£1,424.54	£1,741.11	£2,057.68	£2,374.23	£2,849.08
Temple Cloud with								
Cameley	£964.84	£1,125.64	£1,286.44	£1,447.26	£1,768.88	£2,090.50	£2,412.10	£2,894.52
Timsbury	£974.43	£1,136.82	£1,299.23	£1,461.64	£1,786.46	£2,111.27	£2,436.07	£2,923.28
Ubley	£983.84	£1,147.80	£1,311.78	£1,475.76	£1,803.72	£2,131.66	£2,459.60	£2,951.52
Wellow	£973.76	£1,136.04	£1,298.34	£1,460.64	£1,785.24	£2,109.82	£2,434.40	£2,921.28
West Harptree	£961.13	£1,121.30	£1,281.49	£1,441.69	£1,762.08	£2,082.45	£2,402.82	£2,883.38
Westfield	£1,002.39	£1,169.45	£1,336.51	£1,503.59	£1,837.73	£2,171.86	£2,505.98	£3,007.18
Whitchurch	£972.83	£1,134.95	£1,297.09	£1,459.24	£1,783.53	£2,107.80	£2,432.07	£2,918.48

B&NES Council Tax Rates 2019/20 with Parish, Police and Fire Precept

£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£1,131.61	£1,320.20	£1,508.80	£1,697.41	£2,074.62	£2,451.82	£2,829.02	£3,394.82
Bathampton	£1,148.99	£1,340.48	£1,531.98	£1,723.48	£2,106.48	£2,489.48	£2,872.47	£3,446.96
Batheaston	£1,155.34	£1,347.88	£1,540.44	£1,733.00	£2,118.12	£2,503.23	£2,888.34	£3,466.00
Bathford	£1,142.63	£1,333.06	£1,523.50	£1,713.94	£2,094.82	£2,475.70	£2,856.57	£3,427.88
Camerton	£1,172.12	£1,367.46	£1,562.81	£1,758.17	£2,148.88	£2,539.59	£2,930.29	£3,516.34
Charlcombe	£1,143.11	£1,333.62	£1,524.14	£1,714.66	£2,095.70	£2,476.74	£2,857.77	£3,429.32
Chelwood	£1,133.63	£1,322.56	£1,511.50	£1,700.44	£2,078.32	£2,456.20	£2,834.07	£3,400.88
Chew Magna	£1,159.45	£1,352.67	£1,545.92	£1,739.16	£2,125.65	£2,512.13	£2,898.61	£3,478.32
Chew Stoke	£1,151.28	£1,343.14	£1,535.03	£1,726.91	£2,110.68	£2,494.43	£2,878.19	£3,453.82
Claverton	£1,156.35	£1,349.05	£1,541.78	£1,734.51	£2,119.97	£2,505.41	£2,890.86	£3,469.02
Clutton	£1,184.13	£1,381.47	£1,578.83	£1,776.19	£2,170.91	£2,565.62	£2,960.32	£3,552.38
Combe Hay	£1,193.53	£1,392.43	£1,591.36	£1,790.28	£2,188.13	£2,585.97	£2,983.81	£3,580.56
© ompton Dando	£1,156.29	£1,348.99	£1,541.71	£1,734.43	£2,119.87	£2,505.30	£2,890.72	£3,468.86
Compton Martin	£1,178.13	£1,374.46	£1,570.82	£1,767.18	£2,159.90	£2,552.60	£2,945.31	£3,534.36
Corston	£1,157.36	£1,350.24	£1,543.13	£1,736.03	£2,121.82	£2,507.61	£2,893.39	£3,472.06
Dunkerton & Tunley	£1,151.99	£1,343.98	£1,535.98	£1,727.98	£2,111.98	£2,495.98	£2,879.97	£3,455.96
East Harptree	£1,154.62	£1,347.04	£1,539.48	£1,731.92	£2,116.80	£2,501.67	£2,886.54	£3,463.84
Englishcombe	£1,160.61	£1,354.03	£1,547.47	£1,740.91	£2,127.79	£2,514.66	£2,901.52	£3,481.82
Farmborough	£1,155.09	£1,347.59	£1,540.11	£1,732.63	£2,117.67	£2,502.70	£2,887.72	£3,465.26
Farrington Gurney	£1,154.34	£1,346.71	£1,539.11	£1,731.50	£2,116.29	£2,501.06	£2,885.84	£3,463.00
Freshford	£1,193.29	£1,392.15	£1,591.04	£1,789.92	£2,187.69	£2,585.45	£2,983.21	£3,579.84
High Littleton	£1,153.60	£1,345.85	£1,538.12	£1,730.39	£2,114.93	£2,499.46	£2,883.99	£3,460.78
Hinton Blewett	£1,171.55	£1,366.79	£1,562.05	£1,757.31	£2,147.83	£2,538.34	£2,928.86	£3,514.62
Hinton Charterhouse	£1,167.39	£1,361.94	£1,556.51	£1,751.08	£2,140.22	£2,529.35	£2,918.47	£3,502.16
Kelston	£1,140.66	£1,330.75	£1,520.87	£1,710.98	£2,091.21	£2,471.42	£2,851.64	£3,421.96
Keynsham	£1,189.14	£1,387.31	£1,585.51	£1,783.70	£2,180.09	£2,576.46	£2,972.84	£3,567.40

B&NES Council Tax Rates 2019/20 with Parish, Police and Fire Precept

£ Parish/Charter Trust	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Marksbury	£1,152.44	£1,344.50	£1,536.57	£1,728.65	£2,112.80	£2,496.95	£2,881.09	£3,457.30
Midsomer Norton	£1,191.25	£1,389.77	£1,588.32	£1,786.86	£2,183.95	£2,581.03	£2,978.11	£3,573.72
Monkton Combe	£1,159.31	£1,352.52	£1,545.74	£1,738.96	£2,125.40	£2,511.84	£2,898.27	£3,477.92
Nempnett Thrubwell	£1,154.31	£1,346.67	£1,539.06	£1,731.45	£2,116.23	£2,500.99	£2,885.76	£3,462.90
Newton St. Loe	£1,191.55	£1,390.12	£1,588.72	£1,787.31	£2,184.50	£2,581.68	£2,978.86	£3,574.62
North Stoke	£1,128.28	£1,316.31	£1,504.36	£1,692.41	£2,068.51	£2,444.60	£2,820.69	£3,384.82
Norton Malreward	£1,152.43	£1,344.48	£1,536.56	£1,728.63	£2,112.78	£2,496.92	£2,881.06	£3,457.26
Paulton	£1,202.10	£1,402.43	£1,602.79	£1,803.14	£2,203.85	£2,604.54	£3,005.24	£3,606.28
Peasedown St. John	£1,205.61	£1,406.52	£1,607.46	£1,808.40	£2,210.28	£2,612.14	£3,014.01	£3,616.80
Priston	£1,162.89	£1,356.69	£1,550.51	£1,744.33	£2,131.97	£2,519.60	£2,907.22	£3,488.66
Publow & Pensford	£1,147.73	£1,339.00	£1,530.29	£1,721.58	£2,104.16	£2,486.73	£2,869.31	£3,443.16
Radstock	£1,231.15	£1,436.33	£1,641.52	£1,846.72	£2,257.11	£2,667.49	£3,077.87	£3,693.44
🛱. Catherine	£1,140.46	£1,330.52	£1,520.60	£1,710.68	£2,090.84	£2,470.99	£2,851.14	£3,421.36
Saltford	£1,140.89	£1,331.03	£1,521.18	£1,711.33	£2,091.63	£2,471.93	£2,852.22	£3,422.66
Shoscombe	£1,168.48	£1,363.21	£1,557.96	£1,752.71	£2,142.21	£2,531.70	£2,921.19	£3,505.42
South Stoke	£1,160.29	£1,353.65	£1,547.04	£1,740.42	£2,127.19	£2,513.95	£2,900.71	£3,480.84
Stanton Drew	£1,163.77	£1,357.71	£1,551.68	£1,745.64	£2,133.57	£2,521.49	£2,909.41	£3,491.28
Stowey Sutton	£1,149.14	£1,340.65	£1,532.17	£1,723.70	£2,106.75	£2,489.80	£2,872.84	£3,447.40
Swainswick	£1,143.89	£1,334.53	£1,525.18	£1,715.83	£2,097.13	£2,478.43	£2,859.72	£3,431.66
Temple Cloud with								
Cameley	£1,159.04	£1,352.20	£1,545.37	£1,738.55	£2,124.90	£2,511.25	£2,897.59	£3,477.10
Timsbury	£1,168.63	£1,363.38	£1,558.16	£1,752.93	£2,142.48	£2,532.02	£2,921.56	£3,505.86
Ubley	£1,178.04	£1,374.36	£1,570.71	£1,767.05	£2,159.74	£2,552.41	£2,945.09	£3,534.10
Wellow	£1,167.96	£1,362.60	£1,557.27	£1,751.93	£2,141.26	£2,530.57	£2,919.89	£3,503.86
West Harptree	£1,155.33	£1,347.86	£1,540.42	£1,732.98	£2,118.10	£2,503.20	£2,888.31	£3,465.96
Westfield	£1,196.59	£1,396.01	£1,595.44	£1,794.88	£2,193.75	£2,592.61	£2,991.47	£3,589.76
Whitchurch	£1,167.03	£1,361.51	£1,556.02	£1,750.53	£2,139.55	£2,528.55	£2,917.56	£3,501.06